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Instructions:

. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE

TOLD TO DO SO.

. If the information printed on your answer sheet is not correct, please

inform the invigilator immediately.

. Please use a pencil and write your answers neatly ONLY on the

answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

. Unless otherwise specified, all answers must be in exact value and in

its simplest form. Writing the units for the answers is NOT necessary.

. Rough-work sheets provided will be collected at the end of the contest

but they will not be marked.

. Diagrams in this question booklet are not necessarily drawn to scale.
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For question 1 to 10, the answers must be expressed in integer or decimal.

25 1 2 108 » FERWHADEEEVNEET -

1) 159+14.7=7? [1%]
2) 745-168=2? [1%]
3) 683-8.83=? [1%]
4) 328x65=? [1%]
5) gsé —9 [1%]
6) 64+5=7 [1%]
7) 0684+24=7 [1%]
8) 2870 x 0.0001 =? [1%]
9) (37.2-5.2)x0.01="? [1%]
10) 14 x 2.65 x 20% = ? [1%]
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For question 11 to 15, the answers must be expressed in proper fraction,

integer or mixed number.

% 11 £ 158 > BRWADESR - BEERIBERT -

0

11) Evaluate 1-~— >+, [1%]
8 8 16

HE1-s -2t

_|_
8 8 16

[e]

0
12)  Evaluate 42— (31 - 1% . [19%]
6 3 3

=HE 45_(31_;@} o
6 3 3

[1%]

13) Evaluate %x 45%.

=y 1% « 45% -
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0]
14)  Evaluate gx(1—40%)+§. [1%]
A [ AAS 3 5
SE S x(1-40%)+= o
T 5 x(1-40%) + 2
[1%]

15) Evaluate 28x%+0.3—25.5.

aTE 28><%+O.3— 255 °
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16)  Which of the following numbers is greater than 0.1? [2%]
TETFIE R > WHEEEE 0.1 K 2

A. 0.05 B. 2 c. L
11 16
D. 3.2% E. 0.56%

17)  According to the information given, write an algebraic expression ~ [2.1%]
for the answer.

Thomson has y candies. He eats 5 of them, and gives half of the
remaining candies to Jenny. Jenny gets ? candies.

FRISEEE » FI% A -

REAMER Y FH - iz 5 Filk - FEEeR MAY—For4aieE -
PRSI 2 FH -
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18)  Asquare paper is folded into half twice and cut along the dotted [2.2%]
lines as shown below. Which of the following shapes is formed?

FEIEAEF LR MBS 2 X% - JnEE Ry HEfR - LT
W (& By AR AV B 2

4 )

------- e

)Gy

BT %
&
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19)  There are 4 students and their average weight is 56 kg. After 6 [2.3%]
students join the group, the new average weight of the group
increases by 5%. What is the total weight of the 6 newly joined
students in kg?

VUAERA A IIRGE Ry 56 T - Hig > AL NIAZ

> (SR TR T 5% - 3275 I ARIRLAE Ay
RS /DA 2

20) ? % of the following figure is shaded. [2.4%]
(Correct your answer to 1 decimal place.)

T EREZE G RIS 2 % o (BFERE /N - )
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1 [2.5%]
21)  The school has 640 students. " of the students are boys and 15% of

the boys wear glasses. If none of the girls wears glasses, how many
students do not wear glasses?

LA 640 LELE ﬁtlﬂ%%é‘%ét , 5% A ET AL

B o AR ECRER ST - SR IE 2/ DA R A R A BCRER
BRHY 7

22) 630 grams of flour are packed into bags of 18.2 grams. At most y [2.6%]
bags can be packed, and there are z grams of flour remaining. Find
the value of y + z.

8 630 SeEify R 18.2 Tuflaeni—4% - {Z LAl EAey £3 0 8k
N 25 e Ky vz HYE -
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23)  There were 800 bacteria in a petri dish in the laboratory. The [2.7%]
bacterial population grows at a speed of 35% per hour. After
2 hours, the teacher adds some antibiotics in the petri dish, so that
the antibiotics reduce the number of bacteria to 486 in an hour.
? % of the number of bacteria right before using antibiotics is

the number of bacteria an hour after using antibiotics.

HEpE AR E IFE A4 E 800 Hir - A5 & LI/ NEF 35%
HYIRRIE R © 2/NKRfR - ZRIMERBEIIAIIADUER - (H4lE
BRI —/NEFRIBE 486 HiI - (FRPIERR —/ NIV B E
EMIEFHPUERAIVAE B ERN_ 2 % -

24) A cuboid fish tank with base area 480 cm2 has a capacity of 8928  [2.8%]
cm?. Mum fills the fish tank with some water, and puts 16 identical
cubes of side length 6 cm inside so that the cubes are fully
submerged in water. The water in the tank does not overflow. What
is the rise in water level in cm?

RITRS ALY A B 8928 cm® - HJEHITE £ 480 cm? » #545H
—ERKOE AL - FHE 16 (EER R 6 cm By IE T Ae58 0= AK
o AKADG AR o BELARY KA BT T %D em ?
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The figure below is formed by a circle, a square and a triangle [2.9%]
overlapping each other. The circle is the largest circle in the square

where O is the centre of the circle. Find the area of the shaded part

in cm?, (Take = 3.14)

LUNEPHE ~ 5Pk =A BRI - ZEEIE AR

KEVE > H O ZEI  fasZ 3 i EERE S/ DI T EK 2
(flrn=3.14)

o

8 cm
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26)  Given that the two figures below have the same area. [3%]
A circle of radius 70 mm is cut from the trapezium to form
Figure A. Figure B is a parallelogram. What is the upper base of the

trapezium in centimetre? (Take n = % )

CRILUT FEETZ AV H AR o B A B2HBEITAFE

Ry 10 ZoRMVERAHER - Bl B 22— (EFFTIUER - BIPHY L
22

REZ/VER? (Hln= 7)

le— 2cm —>
re,
25cm ‘ \
- — 204cm — —125cm—]

ure A Figure B
= % A E% B
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27)  The figure below is formed by overlapping 3 identical circles and a [3.1%]
square, where A, B and C are the centres of the circles, and the
circle in the middle is the largest circle in the square. If the
perimeter of the shaded part is 119.32 m, find the area of the shaded
part in m?, (Take & = 3.14)

LAY B = {8 K/ M R B s — ({8 (=05 2 B A el > e
A~ BF1CorRlIZ=(EEMNEL - HFENERE LGP
B - Sl il iy U 119.32 0K » [azEl iy 2%/0
R ? (Hlm=3.14)
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28)  There is an empty cuboid tank that is 90 cm by 34 cm by 17 cm. [3.2%]
The tank is being filled with water from a tap at a speed of
1530 mL per minute. How many seconds does it need to fill up the
tank without overflowing?

H—AZEN &K > RS 90 cm x 34 cm x 17 cm = 7K
FEER DI 488 1530 mL AYERZRF /K - 5B/ DRI REHEKFE E
7K B KA g 2

29)  There is a 2-digit number ab. If the units digit and the tens digit of ~ [3.3%]
that number are interchanged, the value of the new number is 36
greater than the original value. Find the sum of all possible values
of ab.

AH—(ERifi#ab o EZEE AR > BB EL
{EK 36 - >Kab AT A A REEZ A -
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_ 4%
4% _2(x-8) 1y 3 :gx(X—O.BS). [3.4%]

4 y—95
Find the value of y.

30) Given

45% 2(x-3) , 3 6 . )
= );‘zy_s_7><(x 0.38) < 3Ky HYfH

CA

31) Samuel drives from City A to City B at a speed of 30 km/h. Upon [4%]
reaching City B, he immediately realizes he left an important
document behind in City A. He drives back the same route at a
speed of 70 km/h to City A. What is the average driving speed of
Samuel’s entire journey in km/h?

[EHEDI 30 23 BUSINGFA SR A SRAIHIZE B i - 5 HEI B
G T R T EECPRE A A DL T0 A
/N R BB TIE - (BT B ARA T R R 5 LA B
/N 2
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32)

15 students join a test where the full mark of the test is 100. The [4.1%]
marks of students are ranked from the lowest score to the highest

score. The average scores of all 15 students, first 10 students and

the last 10 students are 51.8, 34.4 and 68.1 respectively. What is the

average score of students ranking 6" to 101?

A 156 B S n—(EHIER - 5% HIBRA Y5772 100 o JHIER4E o
% - MR B EREESHEY - 3% 15 2284 - T 10 KB4 D)
FeHE# R %Y 10 AER AR 1S9 3 8557 12 51.8 ~ 34.4 F(1

68.1 - HHTENEF RV EE S/ ?

33)

[4.2%]
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34)

There are 1001 different pairs of keys and locks. Each key [4.3%]
corresponds to only one lock. Brittany mixes up 1001 different

pairs of keys and locks. If Brittany needs to pair up all keys and

locks by trial and error, what is the difference between the

minimum and maximum number of trials?

45 1001 HA[E RV ELAIE - BTt K RERE HE — ¥ ey
B o FEXIE 1001 fggREFT 1001 fEEEFREL T - FEELKHEFTA
MR RCHISHE TG - m/ DRI 25 Hsi B R A= 27 2

35)

Grandma was born in the mid-20" century. The month she was [4.4%]
born in had 5 Fridays, 4 Sundays, 4 Mondays, 4 Tuesdays,

4 Wednesdays, 4 Thursdays, 4 Saturdays. When Grandma is

100 years old, what is the day of the week on the 4™ day of her

birthday month?

LY 20 A REHEH A - AR A e B 28 A - 1M
BIH ~ — > 2 = WRoNEAVU(E - E2E2%E 100 Ry -
2 A 4 RE R 7
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36)  There are two squares A and B as shown below. The side lengths of [4.5%]
square A and square B are a cm and b cm respectively, where a and
b are integers. If the difference in areas between square A and B is
79 cm?, find the value of ab.

LUNEIETTI A KAETTH B » IET5E AR B HYE R A 5 a &
KRR b [EPK > oo a fl b #REFEEL - FHIETTE AR B BYETEAH
7= 19 EDK - SKab H(E -

A B
acm bcm
37) The clock in the classroom shows it is 8 0’clock in the morning [4.6%]

now. After x minutes, the angle between the hour hand and the
minute hand is 53°. Ricky finds that the clock in classroom is

3 minutes faster than the actual time. If x < 60 and x is an integer,
the actual time after x minutesis ___? in the morning.

ek NV T H ATHYIS R & A 8 BRIE - x 7pt% - 3
T _EAYRF AT T ST HIPCA R 53° o /NI S PR R o AR 3 [ 2

ttg[ﬁgﬂ%{ﬁaﬁ@%? 3 ﬁﬁi o %ﬁ X < 60 , E X%%gﬁ ' X ﬁﬁi?ﬁé’g
SRR LE 2 .
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38)  There are three natural numbers x, y and z. [4.7%]
If 32x + 31y + 32z = 1360, find the value of x +y + z.

A 3MERE x> yHlze
5 32x+ 31y +322=1360 > 3K x+y + 2 HYfH -

39) There are three kinds of giftpacks. In Giftpack A, there are [4.8%]
9 candies, 3 gums and 3 apples. In Giftpack B, there are 2 apples,
2 candies and 6 gums. In Giftpack C, there are 1 gum, 1 candy and
2 apples. What is the total number of giftpacks that Benson should
buy to get exactly 36 candies, 36 gums and 36 apples from these
giftpacks?

AL - B AE 9 FAER ~ 3FBIHIEMN 3 (EFAR - 13
R BA 2{EHR - 2FERN 6 FIEHE - B8R CH LHEOR
o~ LRERESRA 2 (55 - 5/ MR 1S-21] 36 FAMER - 36
PR IER 36 (EAER - SEFREME 2/ D EELS 2
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40) Given N2 —a =2022, N2—b = 2021, N2 — ¢ = 2020, and [4.9%]
abc =160g, where N, a, b and ¢ are constants.

Find the value of 1—i—£—i+l+1+1.

bc ac ab a b c
I N2—a=2022 » N2—b=2021 > N2—¢ =2020 -
ﬂabc=160g’,E;EPN~a‘b$DCxEéA%4%Z°

S o L I S ey

bcacababc

End of paper
BT
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